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1. A V;=1520° (V) generator operating at 500 (MHz) with an internal resistance 50 () is connected to a
2-meter-long lossless 50 () air line that is terminated in a 30 +730 (Q) load. Find (a) ¥{z) at alocation z
from the generator, (b) ¥; at the input terminals and V7 at the load, (c) the SWR on the line, (d) the average
power delivered to the load.
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.~ The opén-circuit and short-circuit impedances at the input terminals of a 2-meter-long lossless transmission
line, which is less than a quarter wavelength, are —750 (2) and ;200 (Q), respectively. (a) Find Z, and S of
the line. (b) Without changing the ﬁ-e%lency, find Z;, of a short-circuited line with /=4 m.
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3. For the transmission line shown in below, f=600MHz, v = 2xI 0® mss, I = 53 em, Z,= 7502 Ve =20240%
Z,=3082 Z;=100-j300£2 Determine (a) the line length as a fraction of a wavelength, (b) the voltage
reflection coefficient at the input to the line and at the load, (c) the input impedance to the line, (d) the

time-domain voltages at the input to the line and at the load, (e) the average power delivered to the load, and
the VSWR. ;
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